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Board of School Education Haryana

Political Science
Code : 573
Class 12th
Model Test Paper 2023-24

General Instructions:

All questions are compulsory.
Question numbers 1 to 20 are objective type questions of 1 mark each.

Question numbers 21 to 28 carry are of 2 marks each with intemal choice

Question numbers 29 to 36 are of 3 marks each with internal choice.
Answer of these question should not exceed 70 words.

Question numbers 37 to 40 are of 5 marks each with internal choice.
Answer of these questions should not exceed 120 words.

Section (A)
(Marks 20)

Choose the correct answer to the multiple choice questions.

1.

- When was the Privy Purse abolished? 1
(a) 1975
{b) (b) 1973
(c) 1971
(d) 1965 -
India refused to sign the treaty C.T.B.T. because 1t - 1
(a) Discriminalory
(b) China supported
(c) Pakistan supported
(d) none ol these

Total Marks: 80

When did the Soviet Union disintegrate?
(a) 1990
(b) 1991
(c) 2005
(d) 2023

Downloaded from cclchapter.com




What was the reason for the attack on the World Trade Center?
(a) Terrorism

(b} Cold War

(¢) Nuclear Trealy
(d) None of these

Who is the present Prime Minister of India?
(a) Donald Trump

(b) Vladimir Putin

{c) Narendra Modi

(d) Boris Johnson

Which article of Jammu and Kashmir has been abolished?
(a) 365
(b) 352
(c) 370
(d) 360

What 1s the basis of policy of NITT Aavog?
(a) Make in India

(b) Made in India

(c) Ayushman Bharat

(d) Chirayu Scheme.

Who is the current Secretary General of the United Nations?
{(a) Joe Biden

(b) Shri Narendra Modi

(c) Antonio Guterres

(d) none of these

Match the following.

India-Pakistan Kargil War : 2023

10

Abolition of monarchy in Nepal ~--—---- 1999

11

18th G-20 Summit......cccoomiiiiceiiiinrn 2008

Fill in the blanks.

=

-

13

The currency ol the European Union IS --=-----=nn--- Euro/Yuan.

China/US ------------ adopted the policy of open door

14

The first Health Minister of India was --~----—-——-- Princess Amrit
Kaur/Pratibha Patil.

[5

When did the unification of Germany happen?

16
17

In India on what basis the new states were reorganized?

When was the first Lok Sabha General Election held?
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The question given below is based on agency (I) and reason (T).
Use the following key to select the correct answer.

(a) Both (I) and (T) are correct. (T) is the correct explanation of (I)

(b) Both (I) and (T) are correct but (T) is not the correct
explanation of (I)

(c) () 1s correct but (T) is wrong.

(d) (I) is wrong but (T) is correct.

18 Rajiv Gandhi was assassinated by a Srt Lankan Tamil who had
links with the LTTE.
(k) He had come to Kerala for campaigning.
19 India and China have been exempted from the Kyoto Protocol. 1
(1) The contribution of China and India in greenhouse gas
emissions is only nominal.
20 (1) Globalization is not a multidimensional concept. 1
(i) Technological development promotes globalization,
Section (B)
(Marks 16)
| Very Short Answer Type Questions
21 What is the meaning of unipolar and bipolar world? 1+1=2
Or
When was the Berlin Wall built and when was it demolished? 1+1=2
22 Write two criticisms of the Non-Aligned Movement of India. 1+i=2
Or
What treaties did the capitalist and the communist make during 1+1=2
the Cold War?
23 Where 1s the World Trade Center located in America and when | 1+1=2
did the terrorist attack take place?
24 When did the European Union take place and when did it get the | 1+1=2
Nobel Peace Prize? _
25 What is the main objective of SAARC? 2
26 Comment on 'Aaya Ram Gaya Ram'. 2
27 When was emergency imposed for the first time and for how [+1=2
| long it remained in force?
28 Write any two demerits of multi party system, 1+1=2
Or
Write the names of two major alliances of Indian politics. 1+1=2

Downloaded from cclchapter.com




Section (C)
(Marks 24)
Short Answer Type Questions -

29 What were the effects of Soviet disintegration on developing 1+1+1=3
I I countries like India?
Or
What were the reasons for the disintegration of the Soviet Union? 141413
30 What were the main points of ASEAN Vision 20207 1+1+1=3
3] What is balance of power? How does a country maintain it? 1+2=3
32 What is meant by the common heritage of the 'native' world? 1+2=3
| How is it exploited and polluted?
i 33 | Take a contemporary map of India showing the state boundaries | 1+1+1=3
and mark the following princely states in it
1. Junagarh 2. Manipur 3. Gwalior
|
|
Or
| What are the main problems of nationalism? 1+]+1=3
34 Mention any three results of Green Revolution. [+1+1=3
35 State three consequences of the Emergency declared in 1975, 1+1+1=3
36 How did coalition politics affect Indian politics? [+1+]1=3
Or
What is meant by coalition government? Describe its features. 142=3
4
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Section (D)
(Total Marks 20)
Essay Type question -

37

Write the names of the six main organs of the United
Nations Organization and mention the functions of any two.

Or
Look at the picture given below and answer the questions

that follow.

)

I. Tt is the logo ol which international organization? When
did this organization come into existence?

2. When did India join iL?

3. Which part of it is most influential and how many
members are there in it.

2+1+2=5

38

Do you agree with the argument that globalization is
increasing cultural diversity?

Or
What is the contribution of technology in globalization?

2412 +14=5

1+1+1+1+1=5

39

Analyze India's changing relations with America after the
Cold War.

Or
Briefly explain India's nuclear policy by defining non-
alignment.

243=5
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|40

Even after seven decades the issue of Indian unity is still not
resolved? Give suggestions to solve these issues.

Or
Read the passage and answer the questions below :

One of Hazarika’s Song.... dwells on the unity theme, the
seven states of north-eastern India become seven sisters
born of the same mother...... “Meghalaya went own way....
Arnuachal too Separated and Mizoram appeared in Assam’s
gateways as a groom to marry another daughter......... The
song ends with a determination to keep the unity of the
Assemese with other smaller nationalities that are left in the
present day Assam - “the Karbis and the Mising brothers
and sisters are our dear ones.’

(a) Which unity is the poet taking about ?

(b) Why were some States of North - East created separately
out of the erstwhile State of Assam?

(¢) Do you think that the same theme of unity could apply to
all the regions of India? Why?

1+1+1-+1+1=5

1+143=5

e ——————
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Ferar 14+1=2
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40
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